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Time: 10 Minutes | Paper Math 6 (T-1) Total Marks: 10
| 1st Month, 2nd Week, 3rd Day| Unit # 1: Factors and Multiples |

Q.1. Choose the correct options. (0.5x 6=3) -/ /':..«B:'ll(..._«lﬁwu
(i) The LCM of 8 and 18 is: e PIiboh 3K 18,018
(a) 72 (b) 52 (c) 68 (d) 84

(i) What is the LCM of 14 and 63? S P13k 63014
(a) 144 (b) 136 (c) 126 (d) 120

(iii) The LCM of 54 and 144 is: :+J3]JWI)5K14413154
(a) 410 (b) 432 (c) 440 (d) 452

(iv) The LCM of 14, 28 and 84 is: :‘Lgﬁdla'il35(84u’28cl4
(a) 68 (b) 72 (c) 80 (d) 84

(v) How many methods are there to find LCM of given numbers?
S B SELLE S Poonsbied o s
(@) 2 (b) 3 (© 4 (d) 5

o
.

(vi) LCM of 4, 8 and 12 is: 24(}”41&’35(12/}’8:4

¢

(a) 16 (b) 8 (©) 24 (d) 12

Q.2. Find the LCM by using prime factorization method: 150,
250 and 350. . (1x2=2)

LS s i PISlesh 36 350512504150

Q.3. Find the LCM by using division method: 7, 28 and 98.
(1x2=2) g PP s PIbonsK 98 1287
Q.4. A frog and a grasshoper start jumping together and jump
along the same path. The frog always jumps 25cm and the
grasshopper always jumps 15cm. At what distance they will

meet again? (1x3=3)
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Q.1. Choose the correct options. (0.5x 6 = 3) -q’/h,«l‘s:'l(.,«lzuj)
(i) The LCM of 8 and 18 is: ‘e PIikr36 18918

(a) 72 (b) 52 (©) 68 (d) 84

(i) What is the LCM of 14 and 63? S PIko1s36 635014
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(iii) The LCM of 54 and 144 is: :+JIJWI;5K144/)IS4

@| 410 |m| 432  |@©| 440 |@| 452

(iv) The LCM of 14, 28 and 84 is: 29&'..5(#')5(84/3'28:14

(a) 68 (b) 72 (©) 80 (d 84

(v) How many methods are there to find LCM of given numbers?

S B ST LE St POl o s

() 2 (b) 3 () 4 @) 5
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(vi)LCM of 4, 8 and 12 is: 24&'..3(;”')5(12/3'8:4

]

(a) 16 (b) 8 (©) 24 (@) 12

Q.2. Find the LCM by using prime factorization method: 150,
250 and 350. . (1%2=2)

LIPS A sk PIlea 36 350512504150

Q.3. Find the LCM by using division method: 7, 28 and 98.
(1x2=2) g P s PIeonsK 98 8.7
Q.4. A frog and a grasshoper start jumping together and jump
along the same path. The frog always jumps 25c¢m and the
grasshopper always jumps 15cm. At what distance they will

meet again? (1x3=3)
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